' AYKEIOY MEPOX A
725 1)

[Mapatnpodpue 6TL

lim (\/X2+(xx+1+[3x): lim {\/Xz(1+%+%)+BXJ=

X—>+0 X—>+0

0

= x e 1
= lim (|x| 1+2+%+BxJ = lim(x 1+2+L2+ij=
X—>+00 X X X—>+0 X X
lelrﬂcx[ ’1+%+% +Bj:(+oo)(1+[3)

Eme1om 0éhovpe lim (»\/X2 +ox+1+ Bx) =3 0o pénel 1+B=0=
(drapopetid to 6p1o Bo oy +o0o | —0)
Axopn yw B=-1 €yovpe

TOAATAAGIACOVE Kot
Sapovpe pe v ovluym

i > TOPACTOCT
Ilm(\/x +ax+1—x):3 =

X—>+0
(\/XZ +ox+1 —x)(\/xz +ox+1 +x)

= lim = =3=
X \/x +ox+1+x
\/272 2 H><>0 )(Z/ )({
. X +ox+1 —x AR +ox+1-—
= lim =3 = lim =3=
X—>+00 o 1 X+ o 1
X[ [1+=+— +X X1+ =+—5 +X
X X X X

725 2)

[Tapatnpodpue ot

lim (»\/4x2 +ox +2 +Bx): lim L\/XZ(4+%+%)+BXJ:

X—>—00 X—>—00

x<0

x| = —x
:Iim£|x| 4+g+%+ﬁxj = lim(—x,/1+g+%+ﬁxj:
X—>—0 X X X—>—0 X X
= lim x{—,/4+g+£2 +BJ:(—oo)(—2+B)
X—>—0 X X

Emedn 0éhovpe lim (’\/4X2 +ox+2+ BX) =1 0o npéner 2+Pf=0=
(Srapopetikd o 6pto Ba Nty 400 1| —0)
Axoun yu =2 €yovpe

TOAATAAGLACOVLE Kot
Sapovpe pe v ovluyn

TOPAGTOCT
lim (\/4X2+ax+2 +2x):1 =

X—>—©



(\MXZ +ox+2 +2x)( 4%% +ax +2 —2x)

o \/4X2 +ox+2 —2x
2 x<0
B rax+2 —(2x)? M _
= lim = 5 (2x) =1 = lim A«x"(+ax+22 lez
| 4+E+—2—2x —x\/4+a+2—2x
X X X X

x(aﬁj B
:XILrEO X =1= ¢ :1:%:1:
£ lae® 2 o —J4+0+0-2 -
+x+x2

725 3)

[Mapatnpodpue 6TL

lim (m—ax—ﬁ)z lim (\/xz(l—§+%)—ax— }:

X—>—00 X—>—0

X—>—00 X—>—0

= lim [—X 1—g+%—ax—BJ= limx[— 1—E+£2—(1—Ej=
e x>0 \} X X X
= (=0)(—V1=0+0 -0~ 0) = (—0)(-1-a)
Eneidn 6éhovpe lim (x/XZ —2X+5 —ocx—[}) =0 0o mpénet —1—o=0=>

(drapopetid to 6p1o Bo fray +oo | —0)

=
:Iim(\/x_z 1—§+%—QX—B)=lim£|x| 1—§+£2—(1X—Bj =

AxOpn yio o =—1 &govpe

TOAOTAAGLACOVE KO
Stoupovpe pe v ovloym
TOPACTACT

(aprvovpeEmto B)
lim (\/x2—2x+5+x—[3):0 e
(a\,f’x2 —2X+5 +x)(\/x2 —-2X+5 —x)

= lim Bl=0=
. X2 -2x+5-x
2
2 _ _y?2 _ _
L lim| 2G5 x| g | X205 X )
X—>—00 2 5 X—>—00 2 5
X[\ [1-=+— =X X, 1= =+ =X
X X X X

= fim x(— — 51}** R e g R
J



